Alphabet Breakfast Cereal

SOLUTION: Our mess of breakfast cereal is actually more ordered than it seems at a glance! Every
letter on the page is part of a square, as shown below with outlines, but each square is missing one
corner. The letters in each square are always consecutive in the alphabet, allowing the missing letter
to be filled in. These missing letters are shown below in parentheses. Taking the missing letters in
order of the size of the squares from small to large gives the answer, HETERONYM.
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